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Common Homophones Practice Exercise 1 

 

Directions: Circle the word that correctly fits the sentence. 

 

1. The teacher would not (accept, except) any late work. 

 

2. There is no way you can change the (affect, effect) of what has already happened. 

 

3. The young lady running for office had (a lot, allot, alot) of supporters. 

 

4. We could not remember (there, their, they’re) telephone number. 

 

5. Walter said (its it’s) okay to just come in the door. 

 

6. Does anyone know (whose, who’s) blue jacket this is? 

 

7. If you give the children (to, too, two) much candy, they will get sick. 

 

8. All the students attended (accept, except) Sandy who was out of town. 

 

9. All of their efforts did not (affect, effect) the results of the election. 

 

10. The director will (a lot, allot, alot) a fixed number of duties to each team. 
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Answer Key: Common Homophones Practice Exercise 1 

 

1. accept 

2. effect 

3. a lot 

4. their 

5. it’s 

6. whose 

7. too 

8. except 

9. affect 

10. allot 
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